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Ostwcolours (9 steps) with_*(Ch) pg in L*ABIND-colour space

Ostwcolours (9 steps) withL*(Ch) pg in L*ABIND-colour space

Ostwcolours (9 steps) with_*(Ch) pg in L*ABIND-colour space

Ostwcolours (9 steps) withL*(Ch) g in L*ABIND-colour space

Tristimulus values of black and whitéy=0,0, Y{4=88,6

CIELAB ligthness L*

white W
L*(Ch) g w=95, 0, 0&100

rgb*w=1, 1, 1 . 9steps L*(Ch) o r=67, 64,34
| b rgb*g=1, 0,0
red R
9 steps
black N
L*(Ch) ag =0, 0, 0
rgb*\=0,0,0 ¢ 100
0 L*ABJND-chromatic value Gg

Tristimulus values of black and whitég=0,0, Y,,=88,6

CIELAB ligthness L*

white W
L*(Ch) ag w=95, 0, ogloog steps
rgb*w=1, 1, 1 T yellow Y
: / rgb*y=1,1,0
9 steps L*(Ch) ap,y=88, 71,92
black N

L*(Ch) ag =0, 0, 0 9 steps
rgb*=0,0,0 ¢ 100

0 L*ABJND-chromatic value Gg

Tristimulus values of black and whitéy=0,0, Y{4=88,6
Tristimulus values of black and whitéy,=2,5, Yyn=88,6, Yys=88,6.

CIELAB ligthness L*

white Wy,
L*(Ch) o wn=95, O, 100 L*(Ch) pg r=67, 64,34
rgb* =1, 1, 1 o, 9 steps L*(Ch) ag rn=68, 62,34
e rgb*gn=1, 0, 0
red R,
9 steps
black Np
L*(Ch) pog,nn=18, 0, O
19b*=0,0,0 o 10
0 L*ABJND-chromatic value Gyg

Tristimulus values of black and whitég=0,0, Y,=88,6
Tristimulus values of black and whité,=2,5 Yiwn=88,6, ¥ya=88,6.

CIELAB ligthness L*

white W,
oo Bty
90*wn=1, 1, > yellow Y,
rgb*y,=1,1, 0
9 steps L*(Ch) ag,yn=88, 69,92
L*(Ch) ag.y=88, 71,92
black Np

L*(Ch) ag,nn=18, O, O
rgb*y=0.0,0 ¢ 100

0 L*ABJND-chromatic value Gg

AEK10-3N

AEK10-4N

AEK11-3N

AEK11-4N

Ostwcolours (9 steps) with_*(Ch) pg in L*ABIND-colour space

Ostwcolours (9 steps) withL*(Ch) pg in L*ABIND-colour space

Ostwcolours (9 steps) with.*(Ch) pg in L*ABIND-colour space

Ostwcolours (9 steps) withL*(Ch) pg in L*ABIND-colour space

Tristimulus values of black and whitéy=0,0, Y{4=88,6

CIELAB ligthness L*

Tristimulus values of black and whitég=0,0, Y,y=88,6

CIELAB ligthness L*

Tristimulus values of black and whitéy=0,0, Y{4=88,6
Tristimulus values of black and whitéy,=2,5 Yyn=88,6, ¥y+=88,6.

CIELAB ligthness L*

Tristimulus values of black and whitég=0,0, Y,y=88,6
Tristimulus values of black and whitégyn,=2,5, Ywn=88,6, Xvs=88,6.

CIELAB ligthness L*

white W white W white Wy, white W,
= 100 = 100 = 100 = 100
L*(Sh)_AB'W 95:0,0 _ 9steps L*((fh)_AB’W o0 0$~ 9 steps L*(Sh)‘lB'W" 9.0, 9 steps L*((fh)ﬁa’w" 9.0, 9 steps
rgb*y=1,1,1 —t—— rgb*y=1,1,1 ~ . rgb*ywn=1, 1,1 )—)~3_3_ rgb*wn=1,1, 1 J-J)
e S S~ 33
| | p
|
9 steps gIeen G 9 steps cyan C 9 steps gIeen Go 9 steps cyan Gy
rgb*=0, 1, 0 rgh*c=0, 1, 1 rgh*p=0, 1, 0 rgh*cy=0, 1, 1
L*(Ch, =80, 100152 = L*(Ch, =81, 97,152 —
black N Chasc black N L*(Ch) ag,c=T77, 64,214 black Ny L*Ecr\iii'ii 0, 100,152 black Nn L(Ch)ag.cn=77, 62214
L¥*Ch) A =0, 0, 0 9 steps 100 L*(Ch) agn=0, 0, 0 100 L*(Ch) ap xn=18, 0, O o T L¥(Ch) ap nn=18, 0, Q Llégh)AB,C—77x 64.214
rgb*\=0, 0, 0 0 ; rgh*\=0, 0, 0 ; rgb*y,=0, 0, 0 0 ; rgb*\n=0, 0, 0 0 ;
0 L*ABJIND-chromatic value Gg L*ABJIND-chromatic value Gg 0 L*ABJIND-chromatic value Gg 0 L*ABJIND-chromatic value Gg
AEK10-5N AEK10-6N AEK11-5N AEK11-6N

Ostwcolours (9 steps) with.*(Ch) pg in L*ABIJND-colour space

Ostwcolours (9 steps) with.*(Ch) pg in L*ABIND-colour space

Ostwcolours (9 steps) with-*(Ch) pg in L*ABIJND-colour space

Ostwcolours (9 steps) with.*(Ch) pg in L*ABIND-colour space

Tristimulus values of black and whitéy=0,0, Y{4=88,6

CIELAB ligthness L*

white W
L*(Ch) o w=95, O, 0&100

rgb*y=1,1,1 < 9 steps
LN

L*(Ch) ap g=46, 71272
rgh*g=0, 0, 1

9 steps
blue B

black N
L*(Ch)ag =0, 0,0
rgb*\=0, 0, 0 0

9 steps 190

L*ABJND-chromatic value Gyg

Tristimulus values of black and whité;=0,0, Y,y=88,6

CIELAB ligthness L*

white W
L*(Ch) ag w=95, O, 0&00

rgb*w=1,1, 1 ~32 Sl?ps L*(Ch) pg =62, 100332
i~

| rgb*y=1,0, 1
| ta M
9 steps magenta
black N
L*(Ch)agn=0, 0,0 9 steps
rgb*y=0,0,0 @ P 100
0 L*ABJND-chromatic value Gg

Tristimulus values of black and whitéy=0,0, Y{4=88,6
Tristimulus values of black and whitéy,=2,5, Y\n=88,6, ¥ys=88,6.

CIELAB ligthness L*
white Wy,
L*(Ch) oB.wn=95, O, %100

rgb*wn=1,1, 1 93\0\9 steps L*(Ch) ag g=46, 71,272

L*(Ch) ag gn=49, 69,272

9 steps rgb*g,=0, 0, 1
blue B,
black Ny
L*(Ch) ag nn=18, 0, O
rgb*\n=0.0,0 ¢ steps 100
0 L*ABJND-chromatic value Gyg

Tristimulus values of black and whité;=0,0, Y,y=88,6
Tristimulus values of black and whitéyn=2,5 Ywn=88,6, ¥ys=88,6.

CIELAB ligthness L*
white W,
L*(Ch) agwn=95, O, &00 L*(Ch) g m=62, 100332
(r)
Y

rgb*wn=1, 1, 1 L*(Ch) g mn=63, 97,332

: rgb*yn=1, 0, 1|
9 steps . magenta M,
]
black Np §
L*(Ch) agnn=18, 0, 08 ® 100
rgb*\n=0, 0, 0 0 ;
0 L*ABJND-chromatic value Gg

AEK10-7N

AEK10-8N

TUB-test chart AEK1:; Affine colour metric for six device hues
Ostwdatargb*, XYZ, and L*(Chyg, reflectionYn=0 & Ynn=2,52,Y\w=88,6, adaptatioiyys=88,6.
C M Y [e] L Vv

AEK11-7N

input: rgb/cmy0 (No 1MR)

AEK11-8N
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http://farbe.li.tu-berlin.de/ AEKZ/AEK1LONP.PDF /.PS; only vector graphic VG; start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1
- T -
Ostwdatargb*, XYZxy, and L*ABCh g in L*ABIND-colour space Ostwdatargb*, XYZxy, and L*ABCh g in L*ABIND-colour space Ostwdatargb*, XYZxy, and L*ABCh g in L*ABIND-colour space Ostwdatargb*, XYZxy, and L*ABCh g in L*ABIND-colour space
Tristimulus values of black and whité=0,0, Y,,=88,6 Tristimulus values of black and whité;=0,0, Y,y=88,6 Tristimulus values of black and whitéi=2,5, Yn=88,6 Yis=88.6. Tristimulus values of black and whitéy,=2,5 Yiwn=88,6, ¥ya=88,6.
L*ABCh g data B L*ABCh g data B
CIEXYZ data L*ABCh 5 data rgby L Ay By GagaMasa CIEXYZ data L*ABCh 5 data rgby Ly Ay By GagaMasa =
e L - T I T Ged Msd| |[Ry10067 52 36 64 34 100 rgbt Xy Yo & oxg Ve [Ly Ged Msd| |[Ry10068 51 35 62 34 100 C
Yg11088 -2 71 71 92 V411088 -2 69 69 92
ke [100 (5528 36,99 067 0594 0397 67,26 52,93 3637 64,22 o 01080 -39 45 100152 R [100 156,11 3845 3,39 0594 0397 6835 5143 3534 6240 G4 01081 -8644 97 152 w
Vg [110(67,93 7265 1,12 0479 0512 88,28 -2,93 7161 71,62 Cy 01177 -52-36 64 214 Yy [110 (6840 73,10 383 0479 0512 8849 -2,85 6958 69,2 Cy 01177 -51-3562 214 —
Gy {010 |21,11 57,87 1329 0,228 0,627 8066 -89,15 4566 100188 | [By 00146 2 7171 272 Gy |010|2291 58,74 15,65 0,228 0,627 8115 -86,60 44,37 97352 | [B, 00149 2 -6969 272 @D
Cy [011 (28,91 51,60 9579 0,163 0,292 77,04 -52,96 -36,36 64,244 | [My10162 89 -45 100332 Cy [011 (30,48 52,65 9581 0,163 0,292 77,66 -51,44 -3533 62,214 | [My10163 86 -44 97 332 «Q
By |001|1626 1593 9534 0,127 0,124 46,89 293 -71,61 71,@r2 | [N¢0000O 0 0 0 0 By |001|1820 18,00 9537 0,127 0,124 4950 286 -69,57 69,&F2 | [N¢000180 0 0 0 a
My |101 (63,08 30,71 8317 0,356 0,178 62,26 89,12 -4566 lomgpe | [Va111950 0 0 0 -150 M, |101 (63,68 32,36 8355 0,356 0,173 6364 86,59 -4436 97,282 | [WVa111950 0 0 0 -150 —
Ng [000[000 000 000 0333 0338 008 000 000 0000 Ny [000[240 252 274 0333 0333 1804 001 000 0010 Q
W, [111 (84,21 88,60 9648 0312 0,329 9541 000 000 0,00 A = 250 K/ Xpgs— Y/ Ypgs]  [1b] W, [111 (84,21 88,60 9648 0312 0,329 9541 000 000 0,00 A= 250 X/ Xogg =Y I Yogs]  [1b] =
NI, [0,00 |0,00 000 000 0,333 0,33 0,08 000 000 0000 B =100/ Yog-Z/Zpgs] [20] N1, [0,00 |240 252 274 0,333 0,33 1804 001 000 0010 B =100/ Yoss -2/ Zpgs]  [20] (o)
W1,(1,13 95,05 100,01108,300,313 0,339 100,00 -000 055 0,580 Cap = [A°+B°]%° [3b] W1|1,13 94,74 99,68 107,960,313 0,329 99,87 -000 054 0580 Cag = [AZ+B%]%° [3b] >
714(0,18 17,10 17,99 19,49 0313 0,320 4948 001 009 0,082 has = atan [B/A] [4b] 714 (0,18 19,02 20,00 21,67 0313 0320 51,84 002 009 0097 hss = atan [B/A] [4b] .-
AEK10-1N AEK10-2N AEK11-1N AEK11-2N
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